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Which of the following statements contradicts Dalton’s atomic theory?

A} A chemical change involves rearrangement of atoms.

B) Atoms form ions by gaining or loosing electrons.

C) The number of atoms may change when a substance changes from solid state to
gascous slate,

D} The total number of atoms during a chemical change remains unaltered.

Which of the following compounds of elements in group IV is expected to be most

ionic?

A) Pb(Cly B) PbCl, C) CCly D) 5i1Cly

Among the following isostructural compounds, identify the compound, which has

the highest Inttice energy:

A) LiF B) LiCl C) NaCl D) Mg

To which of the following species octet rule is applicable:

A) Brls B) SFs CilF; D) CO

The species which the central atom uses sp” hybrid orbitals in its bonding is:

A) PHy B) NH, CyCH;' D) ShH;

Which of the following molecular species has unpaired electron(s)?

A) N2 B) F2 C)0; D) 0,

The correct set of quantum numbers for the unpaired electron of chlorine atom is:
n/m

INERR! By211 SERR D)300

The radius of which of the following orbit is same as that of the first Bohr's orbit of

hydrogen atom:

A) He' (n=2) B LM (n=2) O L (n=3) D) Be®* (n=2)

Which of the following species have bond order of 37

1. N, 3L.NODT ALNOT 40
A)1and2 B) 1,2, and 3 C) 1,2 and 4 D) 1,3 and 4

The correct arrangement of NHjz, NjHs, NH:OH and CH;NH; in the order of
increasing base strength is:

A) NH3<N3Hy< NH:0H < CH;NH; B) NH2OH < NaHy<NHs< CH;NH;

C) CHyNH;<NH;<N;Hy< NHOH Dy N:Hy< NH;OH < CH;NH; <NH;

The number of unpaired electron in NiCL™ (tetrahedral) are:
A) Two B) Zero C) One D) Four
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Which of the following bond angles is not correct for the molecule?
Al BF;is 1207 Bj IF; are 120°.90° ) SF; is %07 ) NH; is 109,57

Among the following which one of the following has the highest paramagnetism:
A} [Cr(H0,] " B) [Fe(Ha0)s]" Ci[CulHO))™ D) [Za(H20)]"

Which of the following FOC structure contains cations in alternate tetrahedral voids?
A) NaCl B) ZnS ) Na;D [y Calk

- In a solid “AB™ having NaCl structure “A" atems occupy the corners of the cubic

unit cell. If all the facecentred atoms along one of the axes are removed, then the
resultant stoichiometry of the solid is:

A) AB: Bl AR C) Ay [3) AsBy
. Which has maximum number of atoms of oxygen?
A 10 ml HyO (N B} 0.1 mole of V;0;
) 12 gm Os(g) D) 12.044 =10™ molecules of CO;

Vitamin By is the coordination compound of:

A Mg RB) Fe C)Co M £n

In which of the following reactions, nitrogen Is not reduced?

A WO N0y B} NOy =NO C) NOy —»NH," D) NHy =N,

Borax is used in preparing:
A} Soda glass B) Pyrex glass C) Opal glass 2} Portland cement

The expected spin only magnetic moment for [Fe{CN)|* and [FeFg]" respectively are:

A)L.73 and 1.73 B.M. B) 1.73 and 5.92 B.M,
C) 0.0 and 1.73 B.M. D) (.0 and 5.92 B.M.

. The IUPAC name for the formula given below is:

caw
- P ™

OH
A) 6-Bromo-4-ethyl-2-heptanol B) 2-Bromo-4-ethyl-6-heptancl
(1 4-Ethyl-2-bromo-2-heptanol 1) 4-Ethyl-6-bromo-2-heptanol

Which of the following species is not a nucleophilic reagent”
A) BF, B) NH; C) CH;OH 13y CH:SH

. How many monochlors product are possible in photochemical chlorination of 2, 2 -

dimethyl propane?
Ayl By 3 15 B D) 4

(2)




24. Which of the following alkenes react with HBr in the presence of peroxide to give
anti Markovinkov's product?

A) 3-Hexene B) |-Butene C) 2-Butene D) 2,3-Dimethyl-2-butene

25, Reaction of 1-butene with hypochlorous acid results in formation of:

A) 1-Chloro-2-butanol B} 2-Chloro-1-butanol
C} 2,2-Dichloro-1- butanol D) 1-Chloro-3-butanol

26. Hydration of 1-butyne in presence of H;50, & HgSO, results in formation of:
A) 2-Butanone B} 2-Butanol C) Butane-1,2-diol  [)) Butanal

27. Major product of bromination of n- propylbenzene in presence of light is:

Br
Jendileng

28. The major product formed by the reaction of benzene with propene in presence of
Conc. sulphuric acid gives:

A) n-FPropyl benzene B} iso-Propyl benzene
) Ethyl benzene D) o-Xylene

29, Which of the following eompound gives chloroform on heating with bleaching
powder?

A} Ethyl alcohol B) Methyl alcohel C) n-Propyl alcohol D) tert.-Butyl alcohal

0. Which of the following reagent can be used to distinguish between chlorobenzene
and benzyl chloride?

A) Bra/ CCly B) KMn(y ') Alcoholic AgNO; D) Alcoholic KCN

31. The best reagent to achieve the following transformation is:
CHy HyC. H

- Sa

=)
'A) BHs/Hz0z/0H B} | HR(OAc); HyO-THF / NaBH,
@
C) HO/H D) KMnO,

(3)



32. Which of the following ether cannot be prepared by Williamson's cther synthesis?
A) Methyl phenyl ether B} Diethy] ether
) tert.-Butylmethyl ether D} Dipheny! ether

33, Reaction of phenol with phthalic anhydride in presence of cone. H;S0y4 results in
formation of:

A) Phenvisalicylate B) Diphenyl ether  C) Phenolphthalein 1) Salicylic acid

34, The reagent with which both acetaldehyde and acetone reacts is:
A) Fehling's reagent B) Tollen's reagent  C) Hinsberg reagent D) 13/ NaOH
35, Which of the following compound does not give benzoic acid on hydrolysis?

A) CaHsCM B) CeHCOCI C) CiHsCOOCH; [2) CeHsCH,Cl

16, Reduction of nitrobenzene with Zn -NH,CI results in formation of:

Al Aniline B) Nitrosohenzene
) Arobenzene D) Phenylhydroxyl amine

37. The acid-base indicator methylorange is prepared by coupling of diazotized
sulphanilic acid with:

A) 2-Naphthol B) M-Methyaniline
) M, N-Dimethyl aniline [} Aniline

I8, The hormone which regulates the metabolism of glucose is:
A) Cartisone B) Insulin C) Progesterone D) Oxytocine

39. Natural rubber is a polymer of:

A) Ethylane B) Styrene C) Isoprene D} Vinyl chloride
40. 2-Acctoxy benzoic acid is used as:

A) Antiseptic B} Antipyretic C) Antidepressemt D) Antimalerial
41. For a second vrder reaction, the correct plot of ty vs 1/ |Algis :

by p——" b
Al 2)
i -
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42. Sodium metal crystallizes in body centred cubic laftice with cell edge a = 4.29 A.
What is radius of the sodium atom{in A)?

A) 1,85 B) 18.6 C) 1.5 D) equal to cell edge length

43, The molar conductivity at infinite dilution of AL(S0y); is 858 § em” mol ', Calculate
molar ionic conductivity of Al ion ﬁﬂﬁ:ﬂ'{ﬂ)f'} =160 § cm® mol™;

A)160Sem’mol! B) 189S em’mol’ ) 698 Sem’mol’ D) 1018 S cm® mol™

44, Which of the following given pair of units of a and b (van der Waals constant) is
correct in Van der Waals equations?

A) atm L? mol® and L mol” B} atm L molZand L
C) atm L? mol™“and L *mol D) atmL* moland L

45, Match the process given in column I with its deseription in column II:

e

~ Column 1 ) Column I1
1. Isobaric process p) process in which driving force is very
different than opposing force
2. Isothermal process q) process in whuﬂm nngh o L.
3. Adibatic process lesves the system .
& Irteversible process r) process in which temperature of the
X system remain constant
s) A process in which pressurc of the
i - A system is kept constant ; |

A} 1-p, 2-q, 3-r,4-3 B) 1-r, 2-5, 3-q, 4-p
C) 1-5 2-r, 3-q, 4-p D) 1- 5, 2-p 3-r, 4-q
46. Which of the following has highest pH?
A) 0.1 M NaOH B) 0.0l MNaOH  C) 0.1 M HCI D) 0.1 M CHyCOOH

47. Raoult’s Law describes:

A) How the partial pressure of a solvent vapor varies with solute molecular mass
B) How the partial pressure of solvent vapor varies with solute concentration

C) How the partial pressure of & gas varies with lemperature

)} How the solubility of a gas varies with pressure

48. In a galvanic cell, which one of the following statements is not corvect:

A) Anode is negatively charged B) Cathode is positively charged
) Reduction lakes place at anode D) Reduction takes place at cathode

49. For a first order reaction A— B, the reaction rate at reactant concentration of 0.01
M is found to be 2 x 10°mol L's™. The half-life period of the reaction is (in seconds):

A) 345 B) 2 C) 300 D) 346.5

(5)



S0 Arrhenius equation is:
A) k= A e B) k = g ~e8T C) k = def*™& DY kg ¥ebT
1. Isotonic solution have equal:
A) Vapour pressure B} Osmotic pressurg  C) Boiling point [} Freezing point
52. The wnit cell with dimensions a =} =y = o0, 5= b #ecis:
A) Cubic B) Triclinic C) Hexagonal D} Tetragonal
53, Soup essentially form a colloidal solution in water and remove the greasy matter b
A) Coagulation B) Emulsification  C) Adsorption ) Absorption

54, Cassiterite is an ore of:

A} Ph B) Zn C) Sn D) Mn

55. The presence of electric charge on the colloidal particle is indicated by the
experiment:
A) Osmosis B) Electrolvsis C) Dhalysis ¥} Electrophoresis

56. Which of the following is not extensive property”

A) Surface tension  B) Heat capacity ) Internal energy D) Entropy
7. Free enerey change is related to enthalpy and entropy changes as:

A) AG+ TAS = AH B) AG = TAS - AH

) AG=AS-TAH D) AG + AH =-TAS

58. A system absorbs 701 J of heat and does work equivalent to 3% J on its
surroundings. Calculate the change in internal energy for the process:

A} 3071 B) 1095 ] Cy 0 D) 394

50, A, B and C are ideal gases. Their molecular masses are 2, 4 and 28 respectively. The
rate of diffusion of these gases follow the order:

AJC>A>H B)C=B>A C)C=A=BH DYA=B=C
60, In AgBr, there can occur:

A) Only Schottky detect B) Only Frenkel defect
(') Both Schottky and Frenkel defect D) Metal deficient only

X=X=X

(&)




